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OF X &
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ool AgA 29 (Etel: & e)
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
R 14,619
- CHE (89015277) 5,000
- CHE (947H1005) 6,000
- A8 (93%6684) 3,619
-2 4] 12,000
405 HaHF S| 139,300 0 139,300
01 AL EZ 3 S| 139,300 0 139,300
SELSINEE 135,000,0008 * 1CH 135,000
OANREIIT 29 4,300
-STYN 3,000,0008 * 14| 3,000
-peg e 1,000,002 * 104 1,000
-peg ox 30,0002 * 1004 300
MaT Z| 1,083,224 1,381,414 298,190
= 100,000
= 13,000
= 970,224
~g el 25,684 25,684 0
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202 01 24,084 24,084 0
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OHNBZELS FW 18,468
ODIS&4E Zelge = 5,616
203 PR =X H| 900 900 0
03 Al FER D EH Y| 900 900 0
O%Se BIAH = 900
T2AM 105,640 143,830 138,190
201 2Bre | 97,840 131,846 134,006
01 Ak 22l 97,840 131,846 34,006
OLRABATAE +HYA 242 97,840
SE 4 (S A) 303,5008 * 1970H A 59,790
~H 4 (2II2A) 56,5008 * 19704 * 33 33,392
—E S =R (IR AL
30,7002 = 270H 4 * 28] 1,658
-TIOISALS SR 00,0008 * 30MH A+ 13 3,000
206 M2t 7,800 6,800 1,000
01 X 2 7,800 6,800 1,000
O2s84=9 6,000
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OXIcte HEFx AL 6,700,000& * 32| 214,400
OLAZEEAE 4 2 B 150,000
OARRHEAIA HAgo
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A EEAE IhE 142,000 429,000 A287,000
= 100,000
& 13,000
= 29,000
401 A& HIZ 20HYI 142,000 429,000 A 287,000
& 100,000
= 13,000
= 29,000
01 Al & Hl 140,800 425,911 A285,111
OLrAR=TAIE 140,800
= 99,160
& 12,890
= 28,750
03 AI& 2 0HHI 1,200 3,089 A 1,889
OLARx=TAIE AL2HI(0.9%) 1,200
= 840
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= 7,000
= ,302,000
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= 583,900
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= 150,000
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o 50 24 Y 993,700
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& 149,055
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& 945
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= 462,000
= 99,000
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O=&,3¢et AN ESAS 200,000
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= 30,000
TMESZIF 2 A 14,000 0 14,000
= 7,000
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SN BESCAEA
F: YPHE MEEF 2L
el 2E2E gX (cte: &)
_ _ PIIEL=
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
OstZdga i 24 30,000& * 54 150
B3Zed Kx - tH 14,568 7,074 7,494
202 014 10,368 5,184 5,184
01 =i bl 10,368 5,184 5,184
O3 ANe N=F3H 10,368
206 M= Hl 4,200 1,890 2,310
01 M= bl 4,200 1,890 2,310
OIAMLD HHMZ 4,200
-S Xl Al 80,000& * 4004 3,200
-S%= 200,000& * 54 1,000
BZMERES 2utate] 22,819 21,715 1,104
101 e12i4| 5,394 5,115 279
04 JIZtNI22XRSE+ 5,3%4 5,115 279
OtFNMEELZ SUUA AEEEA 2182
6,440 » 148 5,394
201 L EH2 &I 17,425 16,600 825
01 AR 2t eldl 4,925 4,100 825
OZNEREZ 4,925
-AXAM ME 80,000& * 60&=tA 4,800
-AFEE - HHSI === 2,500& * 50A 125
02 23244l 12,500 12,500 0
Ot gz DXNLE 2EZ
250 = 12,50000 * 43l 12,500
AT 2HM=A 50,000 3,000 47,000
& 500
= 49,500
301 et al= 50,000 3,000 47,000
= 500
= 49,500
01 MBI EE X33 50,000 3,000 47,000
OS2 MZ2 50,000
= 500
= 49,500
=&zel & Q= HMel 63,621 299, 140 A~235,519
Il 47,451
i 16,170
Aot K& 2el 16,170 96,170 A 80,000
Aot=E2x2=2 7 2t 12,450 12,450 0
201 ZEt2FH| 12,450 12,450 0
02 2324l 12,450 12,450 0
OXote Ex2=d 12,450




FA: SEFEAEA
B Lxp U W% He
9l Kot X3 2l (et =3
SN EE - ER(EN) - NRAY - BaS 0il &t o e HlRE2
-235R3(S8H,S423) 2,700
-AM&ZEdl |l 750,000 * 130HA 9,750
KXot HBHMel 3,000 3,000 0
401 Al EHIZ 20h Y| 3,000 3,000 0
01 Al€Hl 3,000 3,000 0
OXlsot= HZXcl 1,000,000& * 30 3,000
Klot= BI&Xel 720 720 0
206 M= Hl 720 720 0
01 =4l 720 720 0
FHAANE DM =E 720
214 1,600 * 2004 320
44 2,000& = 20004 400
s =2 2 47,451 47,970 A519
Jl 47,451
sd==H =ZgSE 2 0/EEI &y 45,000 45,000 0
Il 45,000
207 A Il 45,000 45,000 0
Il 45,000
01 2= 45,000 45,000 0
02U+ +TQAS3e| 0|HEI} Xy
45,000,000& = 14 45,000
Il 45,000
A =EISTE | HE - AZAIE ZLIHE 2,451 2,970 A519
Il 2,451
207 A O] 2,451 2,970 A519
Il 2,451
01 =4 2,451 2,970 A519
OS2 =282l & - A2 AL
2ULIHE 2,451,000& » 14 2,451
Il 2,451
sEsHel HoIE 2l 936,405 717,292 219,113
= 75,900
= 41,000
= 819,505
et X 2tel 43,724 34,854 8,870
SEX 2tel 10,040 3,250 6,790
201 et A | 6,040 3,250 2,790
01 AR 2t eld| 5,200 3,200 2,000
OgltMy Il =HSS (A, Otth, E2) 2,500
OXgEs & HHEN EE 1,500
—B =0 50,000& * 8 * 23l 800




FA: SEFEAEA
M 22HQ HII= 22
el #@EX 2e (etel: =3
S HE - CRI(EH) - HRAY - B sl e HlRE2
- 2ket 40,0003 * 104 400
-0 IH 3,000& * 1004 300
OIREUHHASMAI HHZ2 A
2,000& * 100 = 63l 1,200
02 2324l 840 50 790
Ogletxl SeldA &Iz
10,000& * 708 * 12 840
401 Al EHIZ 2O Y| 4,000 0 4,000
01 Al Hl 4,000 0 4,000
OMEN S0 2& 2= 4,000,000& = 14! 4,000
35 - A0lstE4A 22 33,684 31,604 2,080
201 ZEt2FH| 9,684 7,604 2,080
01 AtR2tel 8,684 6,604 2,080
OZSsEA HOES 15,0003 = 12000 & 1,800
OzZt0l3t &4 1,484
-4 U= 200,000& * 7= 1,400
—=2hrHE 6,000& » 7& * 22/ 84
OBE3 T (2101, 2F) Eu4IE
15,0003 * 12004 =33 5,400
02 2324l 1,000 1,000 0
O20Ist & RXE+ 100,000& » 10S 1,000
401 A& HIZ 2 CHHI 24,000 24,000 0
01 Al£Hl 24,000 24,000 0
OZt0lat&E4 WA 2 &X 6,000,0008 * 45 24,000
EHIl2 =H - XMl 892,681 682,438 210,243
= 75,900
= 41,000
= 775,781
Ml 2els=A 82,571 22,450 60,121
201 LBr2 2| 77,771 22,450 55,321
01 At 2teltl 77,771 22,450 55,321
OoXelIs& M 58,600
-10¢ 36& * 50,0000H 1,800
-20 4 58& = 100,0000H 5,800
-50 ¢ 120& = 150,0000H 18,000
-100 £ 220& = 150,0000H 33,000
oMgoIzels=H HE EE= 3,050
-s=a 50,000& = 112K 550
-#EA 1,000& = 2,500% 2,500
OoXadl2el=A0 M 200,000& = 10CH 2,000
OSASMIISE M 4,960
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31 252 * 40,0004 1,000
51 302 * 60,0000 1,800
~10 4 362 * 60,0000 2,160
OSASMAI| SZH S2E 7,041
-840t 50,0002 * 107} 500
SCEE 1,000 * 5,000 5,000
~AEl3 672 * 23,0000 1,541
OSASMYI| £218I1 5,008 * 15004 750
OSASMYI| YRES 302 * 4,00004 120
OSASMIISINE HY= 100,008 * 23] 200
OSASMI| £2HE)| 7Y
70,0008 * 1574 1,050
405 Xt &3 S 4,800 0 4,800
01 AL EBH St 4,800 0 4,800
OSASMI SSH HE4INE AEax
80,0002 * 6L4 4,800
SESIHIIE 2 26.482 15,322 1,160
201 et | 5,130 6. 150 A1,020
01 ALR22IH| 4,650 6. 150 A1,500
OZESIIHIIZ Xaldl  1,000,0002 * 33 3,000
OMIIZBHE)| HE S22 1,650
~B 40t 50,0008 * 117} 550
Ik 100,0008 * 1174 1,100
02 2z 2| 480 0 480
OMAJISYSI| BHEZAIS It BII23
10,0002 * 444 * 122 480
202 01t 7,452 9,072 A1,620
01 2401t 7,452 9,072 A1,620
OHDIZHRILH SYSI| 22cr= 7,452
301 Lereara 100 100 0
12 J|ErE & 3 100 100 0
OHJIZ E¥SIaD 24 100
401 A2 B2 2 THY] 13,500 0 3,500
01 Al&H] 13,500 0 13,500
OMADISYEI| SELAIR It &7 13,500
-2 AIZ JH0e 2,300,000 * 54| 11,500
-2 At eoI R g 2,000,000 * 14} 2,000
405 &+ SH| 300 0 300
01 HArUSEHSH] 300 0 300
OMYIIZHEI| NSHES Stnat 300
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SN BRLEAY L
= 20 HI2 2
o MEHIIZES +=H - XMl (ctel: &
_ _ _ Muo
SN EB -GS - MBAY - BES 04l &k 24 e HRE2
01 A& HI 30,000 30,000 0
OHMEHII= HEE =HE &X
15,000,000 * 244 30,000
= 6,000
= 24,000
ot&ots Medl EatArY 50,000 0 50,000
= 35,000
i 15,000
101 21 24| 45,000 0 45,000
= 31,500
i 13,500
04 JIZtH22 S ES 45,000 0 45,000
O=s&=H ot&ast diJl E3tAEY IR 45,000
= 31,500
= 13,500
206 M= 4l 5,000 0 5,000
= 3,500
= 1,500
01 M Z 4l 5,000 0 5,000
O32=H ot&dt==Md D F3AE W= 5,000
= 3,500
= 1,500
SsHblY =HEGHE el 40,000 36,000 4,000
401 A& HIZ 2 CHYI 40,000 36,000 4,000
01 A& HI 40,000 36,000 4,000
OYSHEY +HEFE #A 43
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